Security I 1% w, |
S1 0.4 1.85 0.25] 3%
S2 -0.5 0.75 04 2%
S3_| 067 | -025 0.35] 0.50%
P20 [Beso [G5 =040 =01
beta Fi Beta i bp1 bp2
1 1.2 1 1.96 0.1345 0.675
2 0.8 2 0
Sigma_Fi 3 0.604 VarP 0.009777
1 0.2 SigmaP 0.09888

2 0.14



H=4% 1 =0570 s =Y/o 1; =37

X=D %%
b, =0,0%), =V,7 3, =440p, =0,03;=1,48),, =15

Q=067
a=y7

G; =1VU"7/65, =570 0, =1 Z/o (X, =1 o}, =2Y/

& =237

20,
Ho 56,
50

=395%

E(ri)

b x

b_y
Sigma_Fi
beta_Fi

F1

F2
0.04
0.08
0.75
0.1
1.2

0.065
0.4
0.65
0.095
0.56

0.09
1.48
0.59
0.12
1.58

Wi

alfa

eps
Sigma_eps

< X -

E (Rp)

Var_i

VarP
SigmaP



0.65
0.06
0.025
0.14

0.2474
0.23385

0.242658

0.05265

0.076951

bpl
0.3145

0.038733
0.196807

0.35
0.09
0.0185
0.25

Sigma_i
0.229455
0.2774

bp3
0.4875 1.1685



G=634,cov(lk)=25o vk

Var_m
cov_Fl,m
cov_F2,m
rf

rm

624
256
850

12

—89.,b, =0,7:
by, =1,50y, =085k, =170,X=48% X=52¢

b_A
b B
beta_i

beta_|
A
B

lambdal
lambda2

F1
0.75
0.85
0.410256

2.350962
2.664423

2.461538
8.173077

F2 wi
1.5 0.48
1.7 0.52
1.362179



CAPM: r i
A 20.10577
B 21.98654

E (Rp) 21.08377

VarP ...not all important parameters awailable
bp1 bp2

0.802 1.604



budged

ce [, 0, I
A 0.5 0.8 16.2
B 15 14 216
10 0 0 10
1000
S wi E (Rp)
1500 1.5 13.5

-500 -0.5

bpl

bp2

0.5



